
Vocab Misc Questions Overview
Vocab Misc Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is

similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to

elaborate the concept used in Vocab Misc Questions.

Question
In each of the questions below, a sentence is given with one word highlighted in bold. From the given options, identify the

word which expresses a meaning OPPOSITE to the highlighted word. If negative reinforcement does not decrease

unwanted behavior, then it is not a deterrent.

Difficulty : Moderate Average Time : 37 Seconds

Options :
1. obstruction

2. constraint

3. exemplary

4. assistance

5. dissuasion

Solution
The correct answer is option 4 i.e. assistance.

Concept/Grammar rules Applications

Page No: 1

https://www.gargi.ai/question-answer/in-each-of-the-questions-below-vocab-misc-questions-for-banking-105289
https://www.gargi.ai/


The purpose of the

given query is about

finding an antonym (a

word that contains the

opposite meaning) of

the given word.

The meaning of the

word 'deterrent' is
'a thing that
discourages or is
intended to
discourage
someone from
doing something.'

'assistance' is the

antonym of the

given word as it

means 'the action
of helping
someone'.

Hence, option 4 is

the correct answer. 

The meanings of
the other words:

obstruction: an

obstacle or

blockage.

constraint: a
limitation or

restriction.

exemplary: serving

as a desirable

model; very good.

Dissuasion : the

action or process of

trying to persuade

someone not to

take a particular

course of action.
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